INbzb009 CA

EN:34" SQUARE FIRE PIT
FR:34” FOYER CARRE

READ AND SAVE THISINSTRUCTION FOR FUTURE USE

ASSEMBLY INSTRUCTION




EN

SAFETY WARNINGS AND PRECAUTIONS

Please read all instructions carefully and keep this manual safe for future reference.

o Keep at least 2 feet away from all other articles during use

e This fire pit is intended for outdoor use only.

e To be used to burn wood logs only. DO NOT burn coal, leaves, or other combustible
materials in the fire pit.

¢ Not to be used by children. Keep children and pets away from the fire pit.

o CAUTION! Please be careful when handling the fire pit, as the pit will be hot. Do not touch
the hot fire pit with bare hands.

o Never leave the burning fire pit unattended, and always extinguish the fire completely
before leaving the fire pit.

o Do not use near flammable or combustible objects or materials.

¢ When the fire pit is in use, the handle on the mesh screen can reach extreme temperatures
which can cause serious injury to an unprotected hand. Use a poker or an appropriate heat
resistant glove or pad when handling.

e Check local fire regulations and municipal by-laws for safe use.

e Some parts may contain sharp edges. Wear protective gloves if necessary.

¢ The metal may become extremely hot during and after use. Do not touch the metal or try to
move the unit whilst hot.

e Keep children away from the unit while in use until the fire is extinguished and the metal
has cooled.

¢ Do not use on wooden surfaces, decks, grass, near walls or flammable articles, or under
overhead coverings.

o Use only the fuel type(s) specified in the instructions. Using other fuel types is dangerous
and could cause injury.

e Do not overload the unit with fuel.

34” Square Fire Pit 842-171 2




PREPARATION

Before beginning assembly of product, make sure all parts are present. Compare parts with package
contents list and hardware contents below. If any part is missing or damaged, do not attempt to

assemble the product. Contact customer service for replacement parts.

Estimated Assembly Time: 10 minutes.

Tools Required for Assembly: M6 Wrench (Included) and Phillips Screwdriver (Not Included)

FIRE PIT PARTS LIST

\\/

=

&

FIVITRVY
FITEIeeY 81
PEVETREY

No. PARTS Qty
A Legs 4
B Side Panels 4
C Tabletop 1
D Bowl 1
E Mesh wire cover 1
F Wood grate 1
G Poker 1
H Cooking grill 1
HARDWARE LIST
No. Hardware Qty
S1 M6 x12 mm Bolt 24
S2 M6 Nuts 16

34” Square Fire Pit




Step by Step Assembly Instructions:

Step1:

Step2:

Step5:

34” Square Fire Pit

Step2:

842-171 4




Step7:

34” Square Fire Pit 842-171




FR

AVERTISSEMENTS ET PRECAUTIONS DE SECURITE

Veuillez lire attentivement toutes les instructions et conservez ce manuel en toute

sécurité pour référence ultérieure

e Gardez a au moins deux pieds de tous les autres articles pendant I'utilisation.

o Ce foyer est destiné uniquement a étre utilisé a I'extérieur.

e Pour étre utilisé pour braler des blches de bois uniquement. Ne brllez pas de charbon, de
feuilles ou d’autres matiéres combustibles dans le foyer.

o Cet appareil ne doit pas étre utilisé par les enfants. Tenez les enfants et les animaux de
compagnie a I'écart du foyer.

e Attention ! Veuillez étre prudent lors de la manipulation du foyer, comme le foyer sera
chaude. Ne touchez pas le foyer chaud a mains nues.

¢ Ne laissez jamais le foyer en feu sans surveillance, et éteignez toujours complétement le
feu avant de quitter le foyer.

o Ne l'utilisez pas a proximité d’objets ou de matériaux inflammables ou combustibles.

e Lorsque le foyer est utilisé, la poignée sur le couvercle de maille peut atteindre des
températures extrémes qui peuvent causer des blessures graves et des brllures a une main
non protégée. Utilisez un tisonnier ou un gant ou un tampon résistant a la chaleur lors de la
manipulation.

o Vérifiez la réglementation locale en matiére d'incendie et les arrétés municipaux pour une
utilisation sdre.

o Certaines parties peuvent contenir des bords tranchants. Portez des gants de protection si
nécessaire.

e Le métal deviendra extrémement chaud pendant l'utilisation et conservera la chaleur pendant
un certain temps apreés utilisation. Ne touchez pas le métal ou essayez de déplacer I'appareil
pendant qu’il est chaud.

e Tenez les enfants éloignés de I'appareil pendant son utilisation jusqu'a ce que le feu soit
éteint et que le métal ait refroidi

o N'utilisez pas I'appareil sur des surfaces en bois, des terrasses, de I'herbe, prés de murs ou
d'articles inflammables, ou sous des couvertures.

o Utilisez uniqguement le ou les types de carburant spécifiés dans les instructions. L'utilisation
d'autres types de combustibles est dangereuse et peut causer des blessures.

e Ne surchargez pas I'appareil avec du carburant.

34” Foyer Carré 842-171 6




PREPARATION

Avant de commencer I'assemblage du produit, assurez-vous que toutes les piéces sont complétes.
Comparez les pieces avec la liste des contenus du package et le contenu matériel ci-dessous. Si une
piece est manquante ou endommageée, ne tentez pas d’assembler le produit. Contactez le service a la
clientéle pour obtenir des piéces de rechange.

Heure d’assemblage estimée: 10 minutes.

Ouitils requis pour 'assemblage : clé M6 (incluse) et tournevis Phillips (non inclus)

\\/

=

&

LISTE DES PIECES DU FOYER

No. PIECES QTE
A Pieds 4
B Panneaux latéraux 4
C Plateau de table 1
D Bol 1
E Couverture de maille 1
F Grille en bois 1
G Tisonnier 1
H Grille de cuisson 1
LISTE DE MATERIEL
No. Matériel Qté
S1 Boulon M6 x12 24
mm
S2 Ecrou M6 16

34” Foyer Carré

FIRITRVY
FITEIEeY
VT REY

842-171 7




Instructions de I’'assemblage Etape par Etape:

Etape 1: Etape 2:

Etape 2: Etape 4:

Etape 5:

34" Foyer Carré 842-171 8




Etape 7:

34” Foyer Carré 842-171




001-877-644-9366
customerservice@aosom.com

[=] P
0033-1-84166106
contact@aosom.fr

001-855-537-6088

customerservice@aosom.ca

0034-931294512

atencioncliente@aosom.es

Aosom

[=]7:

0044-800-240-4004
enquiries@mhstar.co.uk

0049-(0)40-88307530
service@aosom.de

0039-0249471447
clienti@aosom.it




